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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [["I", "lopt’], ['T, "Topt’], ['RH’, "RHopt'], [ ETcl’, 'optETcl’], 'LAl', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-1_0, Day=42 (2025-05-10)
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12:10 278 150.0 =l RiBe12:10 B3 (REAKEE)
13:10 278 150.0 E| {Rig@13:10 Bzh (GRE{ERSE)
14:20 278 150.0 5 Ri%014:20 B3 (GRAERKSE)
15:20 278 150.0 =l RRiB015:20 B (REAKESE)
2it]2224.0 (8%) 1200. 0 328053 %EC: 2080.0, PH: 6.0

FEREHERE STEELRF (179.0

ERIASSPRIERL147.0 ml.

147.0), AIEERT—@E XA 5

FEREEBEC (2575.0) 5i&EEC (2000.0) RERK, BHE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=39 (2025-05-07)
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Warning: lcol [FVI',| "FVO’'] missing

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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2it| 2224.0 (8%%) 1200. 0 3 WHKEC: 2080.0, PH: 5.8

FEREHERE STEELRF (179.0

ERIASSPRIERL145.0 ml.

145.0), AIEEHT—@E XAH5

FEREEBEC (2565.0) 5i&EEC (2000.0) RERKX, BH/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=38 (2025-05-06)
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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